Math 121 S09NO02 - Quiz 3 Name:
Feb 6 2009 Stag: SOLUTIONS

(1) [5 points] The graph below shows the position function y = s(t) of a car. Here s is in metres
and ¢ in seconds.

s A

0
(a) What was the initial velocity of the car?
Tuitled v e»\cc,l*z) 's s'(e)= o 3"‘1

(b) Was the car going faster at B or at C7 Why?

C : SLQPe oF ‘tuv\ae/»d” Line ot C is 9Wew‘ter,

(c) Was the car slowing down, speeding up, or neither at A? at B? at C7
A: SPeae«L{wé WP ¢S loPes 2 '1@»%3@»;* (imes ave chv‘eﬁsi"g .
B! Slowina ctown S (oPes o ‘Z:awge,.,d- (lhes ewe o&ecfea.,sw%,
c: Nerthey ¢ s lopes o 4 tangeut [{nes (wevesse T lett 4 C)
bt clecvrense +o \/‘Cé,u o+ C,
(d) Based on the graph, what can you say about the motion of the car between D and E?

Cav  bhas S":o?fﬁé= \/é/\ooi‘('?:S‘G:):—O \o-ej'wee;t«,bf‘ £,
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(2) [5 points] Find the derivative of 2 -2
1 “
v=1"— - = t+t - -+
13
=
/ o
U= 2t % +

(3) [5 points] Find the first and second derivatives of g(t) = 2cos (t) — 3sin (¢) .

g.l'(t) = —=2s5sm(+) ~3cos (&)

(l

?“ (+) = ~ 2ces (+) +3s5in (¥)
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